(8580 SEBFM (AR  IRS0FEATE] ARE  85FFRICETIHERIE

e = NE |EEn] B15E | BoohR | Bovh
== Ezs o | a Z
BB o | 4 5 5
EHA o | 2 5
B 4 @
B 3 @
BEEE | UREA o | 2 >
HIB A o 2 2
OADA 5 B
N T o | 2 >
R > 3 %
s - R 5 B B
ETEs 55 1 o | 3 3
e o | 2 5 5
Y o | 2 5
S50 5 %
) L= E o | 2 >
L o 2 5
VB o 2 5
b 4 @
oy 4 @)
RRABE 4B O | 7~8 3 > >
2 o 1 2 ] ;
=i = o | 2 >
=i 5 B
= 5 2 5
=T 5 3
BEE | uTuE o | 3 3
Ra7yavaEl o | 2 i
Eeeh o | 2 5
e 5 B
T RERE o | 2 >
B A B o | 2 >
SRS | BREE > B 2
MRS BEDRY O | 3~6 > > >
B8 ] ] ]
=~ 26 26 26
. IR—A)U—INEED 35 35 40
e P ] 15 15 10

XBE O MENE @ AR CONENS



(B580 SEFM (AED)  IR20OFEAFE] AR S5FRICETIHERIE

e = WE |EESrE] B15E | BovR | BoTE
== Ezhs o | 4 Z
BV B o 2 5 5
EHA P 5
B 4 @
BrxiE 3 @
BEES | DEDA o | 2 >
A PR 5
BAEA 5 B
N BIA o | 2 >
R 5 B B
Fh - 5 B B
7S 5 | o | 3 3
] o | 2 5 5
YN o | 2 5
W R 5 B
) = o | 2 >
R o 2 5
B R o 2 5
o 4 @
g 4 @
BRAE 4B o |7~8| 2 3 >
P o 1 2 ] ;
=i = o | 2 >
] 5 %
=i 52 5
=T 5 B
NESES J3127-Y3 V8] O 3 3
Ryl o | 2 i
el o | 2 5
Hia 5 B
T RERR o | 2 >
BH A TEE o | 2 >
SREERE |BREE > 2 o
BB EEEORE O (36| 2 > 5
B8 ] ] ]
= 26 26 26
N =L —ALFE) 35 35 40
e P ] 15 15 10

XBE O MENE @ AR CONENS



(B580 SEFM (AR  IM28FEATE] AR | 5FRICETIHERIE

e NE ME |BEry| B19E | Bo9R | Bovw
== Ezhs o | 4 7
BV B o 2 5 5
EHA P 5
B 4 v
BrxiE 3 @
BEES | DEDA o | 2 >
T A e |3 5
BAEA 5 5
N BIIE o | 2 5
R 5 B B
Fh - 5 B B
7S 5 | o | 3 3
] o | 2 5 5
YN o |2 5
W R 5 5
= = o | 2 >
R o 2 5
VIR o 2 5
b 4 i
A 4 @
BRAE 4B o [7~8| 2 > 3
P o 3 ] ;
=i = o | 2 >
] 5 B
=i ] 5T 5
=T 5 5
BEE iR | e | 2 3
RroysvEl o 3 7
TRaryavd] o | 2 7
B > 5
T RERR o | 2 >
BH A TEE o | 2 >
SREERE |BREE > 2 o
BB EEEORE O (36| 2 5 5
B8 ] ] ]
= 26 26 26
N =L —ALFE) 35 35 40
e P ] 15 15 10

XBE O MENE @ AR CONENS



(580 2EFH (B11E5D)) BEE VSRR BEFROBBIEFCAB UICHEREZ

= = £1FE Ep=Y=s %32
B 117 114
HE 77 76
DS 1165 1135
IBR 77 75
=E 78 76
WRIP | = 78 76
DIES [ 1REhs 78 76
[ES 39 38
e 39 38
S\EEE 39 37
55 77 75
IN\5t (@) 8155 7945
B b) 31 30
MENRFZEDEE (o) 28 27
\ h— A)(L/d ; 5] ) 43
HRlEE] AT 12 12
FRITE 345 565
Bi0EE (e) 84 82
& :t(a+tb+ctd+e)=A 10025 9765

(58 Z=HFHh (B21E. CRE))
B#E  NNERISXEFROEREFCAB UILHERRRE /CHRE | BIgaZzEE UICHERE

=2 = B 1 SE(C) | B2FE AyFI(F) | E33E (B2)
BENE [B00RS 0 ® ®
2R0C [ gEEEors 195 190 182
,i.f%fw 78 110 74
TEES 78 73 73
/J\ =Hil 351 375 329
?@m@ EE3 0 1125 109
5 0 112 109
=P 116 73 107
Z1fi 77 73 71
RERE 775 0 735
&t 2705 3705 4695
FB1EBID El & O 31 o)
58 EREE) 44 41 43
B1058) 347 116 70
n &t(h) 391 188 113
S EEDRE (1) 0 41 28
& st (f+g+th+)=A 10125 9725 9395




